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Time Allotted: 2 Hours 30 minutes

The questions are of equal value.
The figures in the margin indicate full marks.

Q.B. SET-I
.Q.B. SERIES

Al

Full Marks: 80

[ Instruction ]

candidate will be solely responsible for it.

Example: Correct Method: 0@ QO Wrong Method: & ® @

The candidate should indicate the correct Roll Number, Registration No., Course, Question Booklet Series,
Question Booklet SET on the OMR Answer-Sheet otherwise the Answer-Sheet will not be evaluated and the

Each question has four alternative answers. The candidate has to darken only one circle/bubble on the Answer-
Sheet using black/blue ballpoint pen indicating the correct answer as shown below. If more than one answer /
option is found darkened, then the question will be treated wrong and will not be evaluated.

Answer all the questions /
TAF(D et Bga S / W UYTEGHT IR AGTRI

1x80 = 80

Choose the correct option / % S&af vam ¥4/ 78 e o

1. Who is known as ‘Waterman of India’?

(A) Anna Hazare (B) Rajendra Singh (C) M.S. Swaminathan
‘Waterman of India’ It *Rfe Ifed zem —
(A) &I ZeE (B) e fr (C) @3, @¥. Ffew
HHAE ‘AN A A% FFear w=R Rifs 2
(A) =T BAR (B) T Rig (C) THo THo @THIMIM
2. 'Black Foot’ disease is caused by —
(A) SPM (B) Cadmium (C) Arsenic
‘Black Foot’ carifba ey will 2ot —
(A) SPM (B) @efinmrs (C) wiofem
@H B I AT SR §
(A) SPM (B) defian (€) aafas
1121-A (1)

(D) Subhash Dutta

(D) e w&

(D) g 3w

(D) Fluorine

(D) pefi=

(D) TeifRA

Turn Over
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3. Maximum amount of gas found in air is —

(A) Oxygen (B) Carbon-di-oxide
MeT! HWdfes W sew qy —

(A) wfates (B) IA-wiR-wrate
T AT gy e -

(A) Jfror= (B) F1H-31E- 31Tz S

(A) 1988 (B) 1986

SRTS ‘st SR i BIF] T 3¢ At —
(A) Sav b (B) ddb b
HRTH TG [0 1 g6 q0a) a8 Ry —
(A) 1988 (B) 1986

5. The ecological Pyramid that is always upright —
(A) Pyramid of energy  (B) Pyramid of Biomass
TR (@ Prifare w4 wm T —
(A) *fez Frifie (B) SRrerz= Prifie
TRitefis frfie & w29 o) @ 16 —
(A) Sure fRwfis (B) 99w fvifye

6. Ramsar convention is related to —

(A) Desert (B) Wetlands
THR SR @D A TS 9
(A) Fgfa (B) wongf
AR AREAR §Eg B —
(A) Fefa (B) 3meifA

7. The main component of ‘Biogas’ is —
(A) Nitrogen (B) Oxygen
(& e 5o TemTa ze —
(A) FECITe« (B) wfece

ATTUTE @ WP AU g -
(A) ATEETHA (B) sa¥iroid

1121-A (2)

(C) Nitrogen
(R IE

(C) TSI

Ganga Action Plan in India was launched in the year —

(C) 1980

(C) Sob0

(C) 1980

(C) Pyramid of number

(C) ==y Praffire

(C) g fUxifAe

(C) Agricultural lands

() ¥Ry

(C) pftvfA

(C) Methane

(C) fres

(C) fadrs

(D) Ozone

(D) et

(D) i

(D) 1978

(D) S5¥

(D) 1978

(D) None of these

(D) RItBE 77

(D) B 9 &g

(D) Forest lands

(D) 3 TR A

(D) T yfA

(D) Carbon-di-oxide

(D) FA-BiR-wHIZC

(D) Prd-STg-3IaTES
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8. The causes of biodiversity loss is —

(A) Habitat loss
(C) Over-exploitation of resources (D) All of these
SR W IR T —
(A) IR T (B) T o
(C) SR v TR TR (D) v L
W Rflar—arg & gae RV E -
(A) TR arwe &fd (B) 7= W@ R
(C) B HETTEwd ARy & (D) &
9. “The Environment Protection Act’ was introduced in India in —

(A) 1980 (B) 1986 (C) 2001
SRS AR T iR oS T A —
(A) avo0 (B) Y3ty (C)Ro00d
e At e v gear Ao o R -
(A) 1980 (B) 1986 (C) 2001

10. ‘Silent Valley’ lies in the state of —
(A) Bihar (B) Kerala (C) Tamil Nadu
FRES Tl (8 30e SRES —
() Rzm (B) ¥ (C) SifsErrg,
Frgere deor fRerd w5 g -
(A) faER (B) @xel (C) aftrerrg

11. Minamata disease is associated with —
(A) SO, (B) Mercury (C)NO,
Famrafor cams cafba A e —
(A) SO, (B) *frw™ (C) NO,
“HAmEr aufhd grafad 8 -
(A) SO, (B) #eagd) (C)NO,

1121-A 3)

(B) Poaching of wildlife

(D) 2010

(D) x0%

(D) 2010

(D) Goa

(D) corrat

(D) ar

(D) Arsenic

(D) Wi

(D) ImRaf®

Turn Over

Turn Over
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12. The intensity of Earthquake is measured in —
(A) Decibels (B) Linnean Scale  (C) Richter Scale (D) Linear Scale
R Sige! wet o —
(A) cefiram (B) ffout com (C) faelbra (371 (D) forera o
ywd fean W R -
(A) ¥ (B) frfor e (c) Raex @ (0) fAfR
13. Which gas is emitted in Bhopal Gas Tragedy?
(A) LPG (B) MIC (C) NO; (D) SO,
g o e i oy fafe e ¢
(A) LPG (B) MIC (C) NO; (D) SO
wrare T A - FAAE T It qee g -
(A) LPG (B) MIC (C)NO; (D) 50,
14. Which of the following is nor a method of water conservation?
(A) Rain water harvesting (B) Ground water extraction
(C) Improving irrigation efficiency (D) Avoiding water wastage
IS @D T IR S T —
(A) T2 ez (B) ©1EE & fAmpi (C) 75 TTEA T (D) & S#53 (@Y
Prferfan 7o) G ool GREVIHT ot SuAr aRa g —
(A) a8 T FETA (B) 4-We frseor (C) Riarg &= YuR (D) 9iet qEidIETe FaN]
15. Red Data Book provides data on —
(A) Red flowered plants (B) Red coloured fishes
(C) List of plants and animals (D) Endangered plants and animals
@ &1 3& (Red Data Book) (1 &ty &%) o1 —
(A) o e T (B) ¥ A6 e (C) B ¢ e 7M. (D) Rerwiaprs T ¢ o
7e @ q@-a aEad 2 T -
(A) T Vi ged aafa (B) 11 TTHI HIBTES
(C) gawafa wfA gyEEa® Y@ (D) JIVII: TTRIRIES ¥ TYES
1121-A (4)
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6.

17.

18.

19,

Energy flow in ecosystem is —

(A) Unidirectional (B) Bidirectional (C) Multidirectional (D) None of these
WS & I —

(A) «¥ R (B) fed (C) 7 (D) aTra I T
TRRefa womrelr St wafda g% 6 -

(A) feemér= (B) f&feem (C) T&fem (D) T ufY g
An example of In-situ conservation is —

(A) Gene Bank (B) National Parks (C) Zoo (D) Botanical garden
‘In-situ’ FRIWI-97 Bz zor —

(A) &= (B) wr¥¥y By (C) fofGamarst (D) ®few Twyiw
TR EREY (In-situ conservation) &1 TSeT SET&R0T -

(A) 9 &= (B) T Ut (C) Rfararr (D) Ifas aiven
The ‘Earth Summit’ was held in the year —

(A) 1992 (B) 1990 (C) 1989 (D) 2001

&3 FCF (Earth Summit) (FIN 393 93 20 ¢

(A) Y933 (B) Y550 (C) Sobd (D) x00%

‘Mew Rrar T woar a9 Ry -

(A) 1992 (B) 1990 (C) 1989 (D) 2001

Identify the correctly matched pair —

(A) Basel convention — Biodiversity Conservation
(B) Kyoto Protocol — Climate Change

(C) Montreal Protocol — Global Warming

(D) Ramsar Convention — Groundwater Pollution

o AATHE U AT I —

(A) 2107@ Frwos — G (afbay A
(C) “Fae wfom — fag Twnm

wew fads ohé) e -

(A) a9d H=1-o1a fafduar dvew
(C) wifgaa wedd—Telaa afife

121-A (5)

(B) ReTaCh! wiown — wRRyent “ffiaes
(D) AP T — GEE W e

(B) @A) MeYba—aeary uRad=
(D) IR SHAIRFA-YATA TGO

Turn Over
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20. Ecosystem consist of —

(A) Producer (B) Consumer
awey e wv
(A) Seviwe (B) wws

. Ecotone is characterised by —
(A) Forest ecosystem
(C) Terrestrial ecosystem

Traia Biee smw —

(A) 3 AwSH

(C) V& Nwex

TR w1 R g7 -
(A) T3-aRRufAA a=
(C) wreha aRfRufaa a=

22. Animals living at the bottom of the sea are called —
(A) Lotic (B) Lentic
FACHR ST DRI eNiTeR FoT T —
(A) b= (B) ==
wggae e A 4 -
(A) chfea (B) aAfe®

23. The Wildlife Protection Act was passed in —
(A) 1952 (B) 1955
qeen e SEA A Y —
(A) sals (B) sate
g AaA sfafaas ufRd woe ad forn -
(A) 1952 (B) 1955

(6)

(D) All of these

() Decomposer
(€) Ao (D) 74 J
(C) ArTHED (D) A 4

(B) Transition Zone between two ecosystem
(D) Zone of transition between Water and Land

(B) ¥ RHHTDA FFR Afirr =
(D) w1 & g TP Diefere S
(B) g wRRefdh o= fam wiw=vr &
(D) 5 3 ¥ fam weHA &

(C) Benthic (D) Pelagic
() e (D) oo
(C) #R® WREURES
(€) 1972 (D) 1982

(C) 3391 (D) Sa¥R
(€) 1972 (D) 1982
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24. MAB Stands for —

(A) Man and Biology Programme (B) Mammals and Biology Programme

(C) Mammals and Biospheres (D) Man and Biospheres

MAB-€2 o¢ w1 —

(A) TR @ SRR ceiair (B) weh & gz FeRem cararm
(C) Sl a Fawen (D) WeTE @} AR cenars

MAB &1 3 &6 -

(A) wq= AfY Shafeefie rdwa (B) Trart 3y Safsnfe srdwe
(C) WU I Awvse (D) 7= 3AfA AU

25. Which wavelength of ultra-violet light of sunlight combine with Ozone molecule?
(A) Ultraviolet-A (B) Ultraviolet-C (C) Ultraviolet-B (D) None of these

ST UV SR (I Send) eres g e fafers =
(A) SRGISIAEG-A (B) SIGISICAAS-C (C) WIGrSICAIT5-B (D) R 7

WA THHT AT TS F IS Aol AfABRIT G §9 ?

(A) RIEATH-A (B) RIATH-C (C) WRTET-1-B WESRIERIES

26. Which is the most common gas released from the landfills?
(A) Carbon monoxide (B) Methane (C) Hydrogen Sulphide (D) Carbon dioxide
TS (AT FACHTA AR @i o fefo = 9
(A) FH TAHZE (B) firew (C) Te@ITEw FewiRE (D) I TIREHITE
@re ARTE! BrdaTe v FRRY WA FF 8 ?
(A) FEA-AFgdgs (B) M (C) TSRV HHIZS (D) FTHA-TT3-IFZS

27. Increase in atmospheric temperature due to CO; is called —
(A) Pasteur effect (B) Greenhouse effect ~ (C) Emerson effect (D) Blackman effect

C0,-4% =) AT G s Ao —

(A) 71%2 a3 (B) Sz ared (C) 9P ATy (D) IR AT
CO, ®1 HRY AHVEAH] 934 TRE ATHAATS 90 —
(A) UTeR yurq (B) eRans wara (C) gwdA wara (D) ¥ yMId

$21-A (7) Turn Over
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28. Taj Mahal is threatened to the effect of — (D) Hydrogen
(A) Chlorine (B) Sulphur dioxide (C) Oxygen
srowen e w — 0 ;
(A) GeRRs (B) EiR- GIE- SR () e (D) erRT=rw
AIHEAATE WO WNTT B — 0
(A) TRA (B) WewRes o1f TS (C) A (D) ETEHIIT

29. Typhoid, Cholera and Dysentery are diseases that are spread by —
(B) Water pollution

(A) Air pollution

(C) Land/Soil pollution (D) The use of Pesticides

BRES, SR, W O] Ae Wi oy Ao Wl ¢

(A) I (B) W (C) ¥f& & (D) F0AME araEa

TTEHIEe, BT A qETATSTRT ATEH BATH —

(A) Tg W™ (B) STt WguUI (C) 4fA / ATeY FgE (D) e wam
30. Biodegradable pollutant is —

(A) Plastic (B) Sewage (C) Asbestos (D) All of these

AT & 1 —

(A) 2% (B) Gate e (C) SIPTEA (D) e

e i 1gua & -

(A) =nfRe® (B) 7 (C) 3® (D) ® A
31. DDTis—

(A) Carbamate (B) Organochlorine (C) Triazine (D) Organophosphate:

DDT & —

(A) FHITH (B) SRR (C) rfRes (D) SRR

DDT & -

(A) FratHe (B) arf #eRRa (C) Ry (D) 3 e
32. Eutrophication is found in —

(A) Agricultural Land (B) Saline Soil (C) Lake (D) Mountain

BoOferaa snew uw —

(A) Ffrwre wft (B) w3l (C) & (D) €

(A) Fft 4fa (B) el wiey (C) $hat (D) v

1121-A (8)
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33. Phytoplankton are —

34.

35.

36.

37.

(A) Saprotrophs (B) Autotrophs
FIRIOIETIESA & —

(A) el (B) SO0
IR S9F g —

(A) e (B) Waw®
The largest unit of ecosystem —

(A) Lithosphere (B) Biosphere
AN JTEW OIS T —

(A) Frenem (B) e
TRffd®! T gea g & -

(A) ®IcHOSH (B) rawvsd

Who first gave the idea of ecological pyramid?
(A) Elton (B) Odum

Ao PRIffc-az gzt ey @ o= 9
(A) GO« (B) €T

(C) Heterotrophs

(C) =UbTanlom

(C) ward)

(C) Troposphere

(C) Yeenfrmm

(C) &rvsa

(C) Ernst Haeckel

(C) |THH 3

yRRufaa RfresT s@uren wdverm Faa fagsT g —

(B) 3irgH

Deforestation generally decreases —
(A) Global Warming (B) Drought

(A) TeeH

SRR FYRTS B IE —
(A) RuCarmw (B) ¥t

g9 faArael AR gers e —
(A) TEed aiffe (B) @R

Solid Waste Management includes —

(A) Collection (B) Disposal
204 26 YL TG T —
(A) Feaz (B) SR

2T ER e fm wefave g0 -
(A) 5elE (B) fAger™

121-A (9)

(WER AL

(C) Soil erosion

(C) Yewraz

(C) &=

(C) Recycling

(C) TR

(C) gereenor

(D) All of these

(D) 7Refa

(D) & v

(D) lonosphere

(D) SrCFEaR

(D) JgHYEA

(D) Darwin

(D) ©RTEA

(D) =ifd=

(D) Rainfall

(D) Ffeers

(D) aut

(D) All of these

(D) FRafey

(D) SURKH |

Turn Over
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38. Sunderlal Bahuguna's name is associated with which of the following —

(A) Narmada Bachao Andolan (B) Chipko Movement
(C) Silent Valley (D) Green Revolution
fawfRe el SR TRt TQer SN 1% ¢

(A) i Hore wewe  (B) et S (C) P Sifer S (D) @ R
RS TGP AW e e gt e 8 -

(A) T T9% = (B) s srRe (C) Wger Al () &R
39. Development but not at the cost of environment is called —

(A) Sustainable development (B) Unsustainable development

(C) Non-sustainable development (D) None of these

‘sifcare wfS T 3w Trrr-aa WA —

(A) fifefe S (B) S Baat (C) v T (D) bR =

P R w@iRvs! Jom gigT-arg [ o -

(A) waa fawrE (B) s=erofy famra (C) IR-wea far (D) &Y uf &g
40. Which of the following is responsible for desertification?

(A) Deforestation (B) Mining (C) Overgrazing (D) All of these

forem o WP e W ¢

(A) SRerRam (B) ¥ (C) st (D) 3o

sowreliavor g1 Frefefad B STl B —

(A) 79 o (B) @i (C) A=A (D) & o
41. Green Revolution is associated with —

(A) Sericulture (B) Agriculture (C) Pisciculture (D) Silviculture

e w3 A TS —

(A) R (B) 3R (C) W& PR (D) Frefe R

2Ra wifa wwafad B -

(A) T Wi (B) 7 (C) T qrer (D) SrgTer-Rism
42. What is produced by the fusion and fission of the nucleus?

(A) Hydroelectric (B) Thermal power (C) Solar power (D) Nuclear power

fasfrnrr W ¢ e ab Seom o —

(A) wfage (B) wiefage (C) e (D) s e

Faaa! faeaa ¢ faaveTae & swfed g0 2

(A) vt fargga (B) ardra St (C) W et (D) TR Tl

1121-A (10)
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43, Where are the genes of rare plants species stored —
(A) Gene bank (B) Gene library (C) Seed bank
fam arwrfea Bfarra Bwef vt sars a2 oo
(A) o e (B) fors mitra® (C) Rw 7re
im»“m“?ﬁm?ﬂﬂmenes)mﬁﬁﬂwm?
(A) = ¥ (B) A crgady (€) & ¥
44. The efficiency of energy flow in the ecosystem is about —
(A) 1% (B) 3% (C) 5%
TSR FriRNe! fRomea wfewerars o —
(A) 3% (B) 9% (C)e%
TRRRS T Fter aera @@ Y -
(A) 1% (B) 3% (C) 5%
45. Which of the following is a biodiversity hot spot in India?
(A) Western Ghat (B) Nandadevi (C) Eastern Ghat
fefefRe i reares Siafvaa 25 =6 —
(A) *Fowats (B) Tl (C) *Ha
ﬁwﬁ%amﬁmmﬂa-ﬁﬁumw’ﬁe-mw%ﬁ?
(A) af¥=s T (B) T=red (C) It wre
46. Which of the following causes of COVID-19 —
(A) Bacteria (B) Virus (C) Protozoa
e @ fee-ys -9 2w 9
(A) T=Thfa (B) ©r&am (C) cencbrremat
fFrafeften @ fafe $fde-19 &1 srRo a1 waoq -
(A) ¥R (B) &% (C) sersran
47. Which of the following is a secondary pollutant?
(A) PAN (B) SPM (C) S0,
faraz (@1 (e vae ¢
(A) PAN (B) SPM (C) S0,
frvafafiaa wea fada uguo @4 & -
(A) PAN (B) SPM (C) SO,
1121-A (11)
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(D) None of these

(D) a3 e

(D) #* afy A1

(D) 10%

(D) 0%

(D) 10%

(D) Sunderban
(D) =

(D) g
(D) Fungi

(D) W=
(D) & (w=f)
(D) No,

(D) No,

(D) NO,

Turn Over
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48. Which of the following is an endemic species of India?

(A) Asiatic elephant (B) Lion-tailed macaque (C) Whale (D) Panda
fowffee @1l el arefis (vl aerfs ¢ e
(A) @¥fru e (B) "m-btws wrate (C) R (D)
Prafafen ma srae wr wordies g1 -
(A) TRreh s (B) Rig®) qeBR P TS
(C)=2a (D) Tr=sl
49. Full form of WWF —
(A) World Water Forum (B) World War Fund
(C) World Wide Fund for Nature (D) World Wildlife Fund
WWF-&3 5 m & ¢
(A) World Water Forum (B) World War Fund
(C) World Wide Fund for Nature (D) World Wildlife Fund
WWF &1 gof &9 —
(A) 3€ IR BRA (B) 3c€ R B
(C) T8 TFE B8 BR AW (D) TS TS AFH e
50. Scientific Study of the interactions of organisms with the physical environment is called —
(A) Ecosystem (B) Ecology (C) Environment (D) Trophic Structure
el ¢ w17 (81 *ffirarer S iR RwmTre s 3w —
(A) A€ (B) eyl (C) *ffeca (D) *ff¥wtzm s1o=
e aifrare e sraga TRA Wfed gatarvend wfe —
(A) TRfRerfaa a= (B) uiikfResferaht (C) yataRvr (D) €Y R
51. Baba Amte and Medha Patkar is associated with which of the following movement —
(A) Narmada Bachao Andolan (B) Silent Valley Movement
(C) Chipko Movement (D) Bishnoi Movement

a1 wTe @ cil #BeT fasfafee m amT A 7 —
() st pte GEe  (B) HRS ©ifer wee  (C) Mot g (D) Rresi s

fferfig @ rarefid aman e 3f Jr aeave T sy wy
(A) FHE qu1s; <1 (B) Higale Aol simete (C) Riva) averers (D) g Jr=<rert

1121-A (12)
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52. Which of the following waste is the most dangerous and long-lasting?

33

54.

(A) Bio-medical waste  (B) Ash from Volcano (C) Mining Waste (D) Nuclear waste
frwe (@1 79 Reresws aw Mg o

(A) tom PReele 7 (B) worfiRe o (C) «forer e (D) *Mrrerfs e
Prfefen W= @avars 3f N Rewm wwe sufie (BER) §7 -

(A) TR T RS AT (B) SETETET @RI

(€) TP PrER (D) Ty drafdre

The major objective of family welfare programmes in India is —

(A) Disease control (B) Employment generation

(C) Population growth rate control (D) None of these

SRS AR T TR T T T —

(A) @ forae (B) g

(C) TR 3 29 form (D) GIAME 71

WRAHT IRAR BT SrdmHd & [ g -

(A) T g (B) IR I

(C) sFae gfg <R A= (D) B uf Bgw

Full form of WHO is —

(A) World Human Organization (B) Women Health Organization

(C) World Harmonic Organization (D) World Health Organization

WHO-«3 7o 7 f& —

(A) World Human Organization (B) Women Health Organization

(C) World Harmonic Organization (D) World Health Organization

WHO &1 gui &9 81 —

(A) 7c FYHA 3rTATgoE (B) ¥ ¥od arteTgoraT

(C) To8 RIS SpfATEa (D) Tc8 TR ITATFA

The complex network of interconnected food chains is called —

(A) Food Web (B) Food Network (C) Trophic levels (D) Food pyramid
Ao e FEYE wihn TeE o1 W —

(A) = rffore (B) 4™y A (C) ez (D) ¥y ferafire
AT gEmHTE TR Weld AAreang HAw —

(A) %8 24 (B) B8 #edd (C) gfamn ovd (D) ws fAvifAs

1121-A (]3) Turn Over
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n3e: () Lihiin () olpfe (8) 23 Lok (V)

— i} (2ol Digjiplie kBl ladbikh RIS kil

KR2ea () el (D) 212 i () 18 i (V)

— Lo ogllo blonic SQYloRI libb] wbdll,, Kb

wioypos (q) uede( (9) Y104 maN (g) 1y[2@ maN (v)
—Je PIoy sem 3JU3I3ju0?) [eyuawuodiAug [euoneutaquj isayy a3yl ‘09
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61. Lignite, bituminous and anthracite are different types of —

i
: (A) Nuclear fuel (B) Coal (C) Natural gas (D) Biogas
oD, BRI @ SiRees g fafon s —
; (A) *terefaes e (B) @ (C) erpfe (D) At
i formge, R 3fY vwmge A g &1 -
| (A) T e (B) ®rgen (C) urpfs a4 (D) araar
fr 62. Zone consisting air, water and soil is known as —
(A) Hydrosphere (B) Atmosphere (C) Lithosphere (D) Biosphere
Y, & o W e e awer B ks —
(A) TRraR (B) argmes (C) forefrma (D) Gaxen
Y, S A AR BT &S Wi —
(A) STervsE (B) argwvew (C) wrewvEe (D) v
63. Full form of CNG is —
(A) Common National Gas (B) Compressed Natural Gas
(C) Common Natural Gas (D) Certified Natural Gas
CNG-93 *pfm —
(A) Common National Gas (B) Compressed Natural Gas
(C) Common Natural Gas (D) Certified Natural Gas

CNG &1 gof w9 & —
(A) 99 9T A (B) FWIse Ao W (C) FHA VTR AN (D) GETHIES AR T

64. Plants are green because of the presence of a pigment called —

(A) Glucose (B) Nitrogen (C) Chlorophyll (D) Oxygen

M @ T IR —— A 3837 Toifefs —

(A) #FE (B) iRLAICE= (C) GritaIfEa (D) wf3e™

Igfig eRar ! g8 SR A9 FgEdr wua SuRed g6 —

(A) I (B) ggIoH (C) TRt (D) et
65. Which of the following problems is not created by noise pollution?

(A) Diarrhoea (B) Hypertension (C) Deafness (D) Irritation

e catm st W v e i @ Al g

(A) srafam (B) &% a@bis! (C) ez (D) g

f=fafiaa gmfd wren wafy gguore R §9 -

(A) Tgre (B) 9&a aqam (C) af_u= (D) frsfreEe
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66. The group of organisms which convert light into food are called —
(A) Autotrophs (B) Heterotrophs (C) Decomposers (D) Omnivores
(0 7R SN W WIS WO ARG 0 SIHa A —
(A) SOIIF> (B) coreaites (C) *io=rhen (D) =
HAEEH THE THS TSNS Wrel H9H1 IR TS, THeAg D —
(A) s (B) Rww o (C) 3TEEH (D) wafery
67. Carrier of Dengue disease is —
(A) Aedes Mosquito (B) Culex Mosquito (C) Housefly (D) Anopheles Mosquito
(T% @R AT —
(A) afes s (B) fReSrersy i (C) TR (D) SUTCIRFRT et
S ATHT ARSD & —
(A) TS F=BR (B) Fgoiad HeBR (C) S (D) TfSsfere #eav
68. Sustainable development goals have specific targets to be achieved by —
(A) 2022 (B) 2030 (C) 2040 (D) 2050
GFR Taa= TR Weid e RS s e —
(A) R03% (B) 090 (C) xe8o (D) Roco
fem fae urd THer afft Aifeger dea —
(A) 2022 (B) 2030 (C) 2040 (D) 2050

69. Which of the following is not a natural hazard?
(A) Wildfire
(C) Landslide

(B) Lightning
(D) Chemical contamination

a5z @ WA engfes Rerfy 77 ¢
(A) wrare (B) @Ire (C) gfwm (D) 3o o
ffarfag we) GaIE NHfas @axl B —
(A) FTSTART 3TN (B) fageht o] (C) ¥t (D) rmAf® gHoT
70. In case of a parasitic food chain, the shape of the pyramid of number is always —
(C) Inverted (D) Not Certain

(A) Upright (B) Linear

qafh wad 8 wveareE we G2 wigfe FeAa fHafie s o —

(A) =@ (B) afu= (C) Tbrea (D) faf%® w7

qvoifa e FEAH] foufas (f\v;‘\’ylldﬁ THR Haa E? T -

(A) 913N () (B) e (C) Beel (D) JfAfera
(16)
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71. What percent of area in the plain should be under forest?
(A) 21% (B) 25% () 17% (D) 33%
THELTH T O PP IeRTera S et Bffvs 9
(A)>% (B)xe% (€)% (D) ©0%
TP B GRS gy 2
(A) 21% (B) 25% (C)17% (D) 33%
72. What does the high Biochemical Oxygen Demand (BOD) indicates —
(A) High level of microbial pollution (B) Low level of microbial pollution
(C) Absence of microbial pollution (D) Water is fully pure
B (8= AP TS (BOD) w1k et v —
- (A) SRR e S (B) RcwtiRaen e fosa
(O TR T el (D) &1 opef o
E S Wa IRE FRAGH (BOD) 1 A B wag e
- (W) TR g 9w W (B) AT wgwora i <
(C) Frssifeaet wguvreT Sraferfy (D) oY quie: g
73. Cultural environment refers to —
(A) Mountains (B) Man-made environment
(C) wild environment (D) Marine environment
rFeT sifara e @R —
(A) e (B) -7 ~Af (C) 3% ffra=t (D) e =ifica=t
WGP qafaRoRia wfid & —
(A) TdaE® (B) #ra fAffa watexer  (C) a9 wafaror (D) 99t wataRoy
74. The atmospheric layer from earth’s surface to 18 km is known as —
(A) Troposphere (B) Stratosphere (C) Mesosphere (D) Ionosphere
st i orfa g armedn vl ofifoe 27 —
(A) Wt (B) 3rsifwar (C) e (D) wReFFRT
gedi waEele 18 faho Mo Awi@T ARSI dEATS B —
(A) & Huge (B) §HaAT HUSH (C) wea HvEd (D) 3T AvES
| 1-A (17) Turn Over
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75. The salinization can be defined as —

76.

77.

78.

(A) Accumulation of Salts in the body
(C) Accumulation of Salts in animals

FRIMSTIANT GO MAAS FA (WS “NE —
(A) N7 ¥ ww
(C) 2vwa Wy 13t &y

The uses of CFC are —
(A) Insulators

CFC- 2 R =& —
(A) 93z

(B) Aerosol propellants

(B) SUICAIT (RS
CFC &T S9INT §6 —
(A) 3gR

CPCB Stands for —
(A) Control Pollution Control Board
(C) Control Pollution Central Board

(B) R uoNes

CPCB ¥itA —
(A) Control Pollution Control Board
(C) Control Pollution Central Board

CPCB &1 319 g —
(A) BT TegH o A
(C) T2 9cga dgal a1

(B) Accumulation of Salts in water
(D) Accumulation of Salts in the soil

(B) &A1 &1 &
(D) e 7R &L

(B) ar=irET 99 STHT &
(D) ®Te™T 99 ST 89

(C) Refrigerants (D) All of these
(C) Firerczs (D) 7=
(C) ¥Ppere (D) SRIH TS

(B) Central Pollution Central Board
(D) Central Pollution Control Board

(B) Central Pollution Central Board
(D) Central Pollution Control Board

(B) ¥xel TRIEA e A1
(D) ¥l TYEH FE W

Which of these is the most naturally occuring and frequent disaster?

(18)

(A) Tsunami (B) Draught (C) Earthquake (D) Flood

Qs ) @A A eipferery afbe a3 9 o yrdie —

(A) Fard (B) <1 (C) i (D) T

'mmaﬁaﬁmﬂﬁmmmhuﬁaﬁgﬁﬂmmg:[ﬁ

(A) ATl (B) @sd (C) (D) 9Ty
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79. Which of the following is the largest source of water pollution in major rivers of India?

(A) Untreated sewage (B) Agriculture run-off
(D) Religious practices

(C) Unregulated Small-scale industries

s (@10 SRS 2l TR wevET e I¢ TeH — i1 60

(A) s ReEs sws fAeee (B) gﬁ AA-SF

(C) wffye v fw (D) 4% wepher .

Pt Ml FTME ARAPT W TAEHH il guvrHT T R AW 5 — ion

(A) TR F (B) X arare lely

(C) sfrafda &g Sam (D) enfife guES ing
80. The source/origin of Narmada river is — ed,

(A) Amarnath (B) Kolkata (C) Kerala (D) Amarkantak.

o R e / Teoifewm — 5

(A) S==R (B) I71el (C) =t (D) SREFGF

FHT F4H W /I & —

(A) 3F=ATT (B) drerprar (C) = (D) 3FRFHTH

Turn Over

21 (19)





{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

